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Question 1

Question Type: MultipleChoice

What is a key VPLEX component that enables an active-active data center?

Options:

A- Distributed storage views
B- Distributed virtual volumes
C- Distributed extents

D- Distributed storage volumes

Answer:

B

Question 2

Question Type: MultipleChoice




Which protocol is presented by "B" in the exhibit?

Options:

A-FC

B-iSCSI
C- FCoE
D- IPFC

Answer:

Question 3

Question Type: MultipleChoice

What is a VPLEX RAID-0 device?



Options:

A- Device that stripes data beneath a top-level device
B- Device that concatenates data on a top-level device
C- Extent that concatenates data on a top-level device

D- Extent that stripes data beneath a top-level device

Answer:

A

Question 4

Question Type: MultipleChoice

What is the maximum number of synchronous consistency groups supported by VPLEX?

Options:

A- 256



B-512
C-1024
D- 2048

Answer:

D

Question 5

Question Type: MultipleChoice

What is the maximum number of virtual volumes that can be placed into a single consistency group?

Options:

A- 800
B-900
C-1000
D- 1100



Answer:

Question 6

Question Type: MultipleChoice

What are characteristics of a storage view?

Options:

A- An initiator can be in multiple storage viewsVPLEX FE port can only be in one storage viewEach initiator and FE port pair can only be
in one storage view

B- An initiator can only be in one storage viewVPLEX FE port can be in multiple storage viewsEach initiator and FE port pair can be in
different storage views

C- An initiator can only be in multiple storage viewVPLEX FE port can be in multiple storage viewsEach initiator and FE port pair must be
in different storage views

D- An initiator can be in multiple storage viewsVPLEX FE port can be in multiple storage viewsEach initiator and FE port pair can only be
in one storage view



Answer:

Question 7

Question Type: MultipleChoice

What is the purpose of issuing the batch-migrate check-plan command?

Options:

A- Determines if there is currently enough back-end bandwidth
B- Determines if the front-end 10 rate is below the predetermined threshold
C- Verifies that the target devices have no virtual volumes configured

D- Verifies that the source devices are not in a storage view

Answer:

C



Question 8

Question Type: MultipleChoice

Which VPLEX component can determine the difference between a partition and a site failure of a VPLEX Metro configuration?

Options:

A- VPLEX Witness
B- Management Server
C- Distributed device

D- Consistency group

Answer:

A
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